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) @10) | Bleao

(®)i) Line drawn | BI Straight line drawn passing between (2, 16) and (2, 28) AND (13, 80) and (13, 92)
(b)) Positive | C1 positive OR description of dynamic relationship
© Value between | C1 a correct value given
60and 70

@ Statement | C1 for referring to the danger of extrapolation outside the given range or for a given point





image7.png
outside the data

(@) No + reason M1 Interpret question eg. draw line of best fit
85-20
i Sertotesies gdienes 0226
1 Gradient within range £(2 - 3) and ‘no’
) “The LOBF would | €1 Convincing explanation
have to be used
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@

Point plotted
positive

18-22

s

Bl cao
Bl cao

M1 for a single line segment with a positive gradient that could be
used as a line of best fit or a vertical line from 10 or a point plotted
at(10, ) where yis in the range 18 - 22

Al1g-22

Bl cao
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@

)

Relationship

6400 10 7000

BI for a description of a dynamic relationship eg “The older the car
the lower the price” or “The newer the car the greater the price” oe
(accept negative correlation)

M1 for a single straight line segment with negative gradient that
‘could be used as a line of best fit or vert. line from 3.5 or a point
plotted at (3.5, ), where y is in the range 6400 to 7000

Al for 6400 - 7000
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(@

®)

Relationship

611064

BI for description of relationship eg “As the length of the pine cone’
increases the width increases” oe (accept positive correlation)

MI for a single straight line segment with positive gradient that could
be used as a line of best fit or a vertical line from 8.4 or a point at
(8.4,y) where y is from 6.1 to 6.4

Al for given answer in the range 6.1 to 6.4
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(@ Points plotted BI for points plotted at (12, 6) and (13, 2)
® Description BI for description; accept negative correlation.
© 57 MI for evidence of use of graph cg a single straight line scgment

‘with negative gradient that could be used as a line of best fit or an
indication on the diagram from 12 on the y axis.
Alfor5-7
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(@
®)
(©

Plot (90,17)
Positive

In range 16 to 20

Bl cao
BI Positive

MI for a single straight line segment with positive gradient that
could be used as a line of best fit or a vertical line from 110 or a
point plotted at (110, y) where y is in the range 16 to 20

Al for an answer in the range 16 to 20 inclusive
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(@

®

©

Points plotted at
(1,8200) and
(3.5,5000)

“the older the car the

lower the value” ‘the

greater the value the
newer the car”

5200 to 6600

BI for points accurately plotted +1/2 square tolerance

BI for an acceptable relationship eg. ‘the older the car the
lower the value” (accept ‘negative correlation” but not just

“negative’)

MI for a single line segment with negative gradient that
could be used as a line of best fit or a vertical line from 2.5 or
apointat (2.5.y) where y is from 5200 to 6600
Al for given answer in the range 5200 - 6600
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(@
®)

(©

Plot (2,250) and (3.1, 190)

Plot points

Relationship

200 to 260

BI for both points plotted accurately

BI for “As the distance from the centre increases the monthly rent
decreases” or the nearer you are to the centre the more you have to
pay oe (accept negative correlation)

MI for attempting a correct method, eg a line of best fit
or any other indication, on a line that could be used as
fit eg line to graph at x = 2.80r a mark on the line at 2.8
Al for value in the range 200 to 260

ine of best
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(@)
(®)

Positive (correlation)

8

BI_for positive (correlation) [do not accept a relationship]

B2 for an answer in the range 83 to 87
OR

MI for a single straight line segment with positive gradient that
could be used as a line of best fit or for an indication on the
diagram from 148 on the height axis

ATt from their line of best fit
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(@)
(®)

negative

103117

BI for negative

MI for a single straight line segment with negative
‘gradient that could be used as a line of best fit or an
indication on the diagram from 2.5 on the x axis

Al for an answer in the range 10.3 ~ 11.7 inclusive
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®)

©

@

Plot (15,22) and (55, 15)

Ponts plotted

Describe relationship.

18-20

Reason

Bl

BI

MI

Al

BI

cao Y square

If the temperature increases so the time taken
decreases oe  (accept negative correlation)

draw LOBF between (20,18) and (20, 22) to (70,3) and (70,8)
18-20  (if MO allow B2 for an answer in the range 18-20)

reason e.g LOBF would give negative time,
‘you should not use the LOBF beyond your data
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(@

®)

Positive correlation

75

BI for positive correlation or as the number of pages.
increases the time taken increases or the longer the book

the more time it takes to read oe

MI for line of best fit drawn between (50, 2) and (50, 4)
and (200, 9) and (200, 11)
Al for65-85
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(@) Info plotted at B1 for a correct plot +2mm
(6.1,32)

(b) positive B1 for positive (correlation)

© 66t07.6 M1 for single straight line segment with positive

gradient that could be used as a line of best fit or an
indication on the diagram from 40 on the umbrella axis.
A1 for an answer in the range 6.6 to 7.6 inclusive.
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| @
®

Negative

117-123

Bl cao

M1 foraline of best fit drawn between (9, 130) &
(9,140) and between (13, 100) & (13,110) inc...
Al for 117123 inclusive





image21.png
(@ Points plotted at 2 | B1for 100 soi Half square tolerance
(210, 130) orfor one point plotted correctly May be implied by point plotted at
and duration 100
(100, 80)
®) Point at (220, 64) circled 1
() | () | Ruled iine of best ft drawn 1 Use overlay anchored on top right
point
Line must reach to edges of overlay
Their fine used to give duration for £90 | 1 FT | Stict FT from their intended straight | NB read (n, 90) not (90, 1)
+5 minutes line of best fit
@ 7 hours is] is beyond the given data 1 Accept

oe

&g the trend may not continue
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(a) 2 points plotted correctly tolerance + %; small square

®) positive Tgnore embellishments

(©) | (i) | acceptable ruled ine See overlay, it must be at least fromx = 10 ©
x =45 and between (10,4)to (10,12) and
(45.40) to (45,50)
if more than 1 line, both must be in
tolerance, ignore horizontal and vertical
lines.

(i) | 35044 Tor answers out of tolerance FT their ruled
line with positive gradient with tolerance £ %
small square

@ 7201417 or 4166 or Bifor5 Their 5 must be less than 12
4167 M1 for 4ers
iz implied by [0].4166.
M1fnr(meiri)x100 rplied by [0}

f 0 scored SC2 for answer of 30 from +-or
36[.36...] or 36. 4'rnm“—l
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(@) Four points correctly plotted B1 for 2 or 3 correct plots Mark in 70% zoom, use overlay, points
inside or touching circles
®) Negative Do not accept description of relationship
Strong Accept moderate, medium etc,
but not weak
© Point at (4, 3.4) indicated only
(@ Ruled fine of best fit B for ruled line of best fit Use overlay for LOBF, ruled fine should be

and

answer FT theirline + 100

or for answer FT their line with negative
gradient

as long as the zone and should not cross
the longer sides of the zone

Not for e.g. 6.4 thousand
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(e)

Only have data on cars up to 12

years old oe
or

Equation of line of best fit would
give a negative value or zero oe

e.g. the trend may not continue
It would give a negative cost
Outside range of data provided e
‘The price would be below zero
The price would be zero oe

See AG

Do not accept

16 is not on the graph

The graph does not goto 16

Ignore incorrect statements.
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(@

Points plotted at (21, 18) and (7, 8)

Tolerance 1 mm

®) 13 B2for3: 9 0e oranswer 3: 1 NOT from 4 12
or
B1 for 3 [dancers] or 9 [dancers] May be on graph
identified 412 simplified to 1 : 3 scores 0
1f 0 scored then SC1 for
4:8 seen and simplified to
1:2
© The wedges at the front look bigger ‘Comments should refer to the 3D nature of
than those at the back oe the pie chart

e.g. It tiited, slanted, seen from an angle
etc.

Ignore all references to missing angles, not
being joined, etc.

Mark the best bit unless contradicted
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(a) accept any correct explanation If more than one choose the best
e.g. sample size is small, no one |
mention of subjects being randomly see list of exemplars
selected
(b) two points accurately plotted B1 for each tolerance + £ small square and use
overlay as a guide
© positive ignore any extras .g. strong
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[C])

aline or a mark between (35,9) and
(35,15)

use overlay as a guide, a clear
indication of method to find their
answer

9015 1
©@ 9soi B 9 can be implied by 75
For putting their 9 out of 12 into a M1 | Accept any correct reasoning e.g. | Accept fractions, decimals or
percentage oe e.g. M1 for 0.80 x 12 0r 9.6 percentages providing the two
i ) figures can be compared
9in 120r > [ 75(%]
A correct conclusion from their 9 AIFT | AMFT for a correct conclusion from | FT their percentage or figure

&.g. “Noishe is wrong”

their 9
e.g. “Noishe is wrong”

If no points plotted in (b) award M1 for
8 [out of 10] = 80[%] and A1 for “Yes”
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Correct histogram with blocks of
height 5.4, 5, 2.2 and 0.5

Vertical axis labelled ‘frequency
density’ and a correct linear scale
shown

B2 for 3 correct blocks
or B1 for 2 correct blocks of different
widths

If 0 scored, SC1 for 3 correct freq
densities s0i 5.4 0e, 5, 2.2 0e and 0.5 oe

% small square accuracy for heights, no
gaps between blocks.

Condone good freehand if in tolerance
Condone omission of vertical line at
t=80

Other correct histograms may be possible
with different scales

For SC1 oe accept e.g. %isw'otZZ

At least 2 numbers shown for linear scale
(other than zero),
Acorrect linear scale could use e.g. 2 cm
to 1 unit or 2 cm for 2 units

Accept FD for frequency density label
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(b) We don't know oe and correct 1 | e.g. Not sure, as exact data not given. Accept No with correct reason but do not
reason accept ‘yes’ with any reason
e.g. No, all we know is that the longest
time s in the group from 40 to 80
See AG
© M |20+aa+2=42 Wi [or168-54-50-44+2 Accept 22for 44 + 2
421is 25% of [total ]168 oe A1 | with no errors seen Accept e.. Y of 168 =42, 168 + 4 = 42
21 e
168 4
These two steps may be done in reverse
order
Correct statement on assumption BT

made

eg

Sample is representative oe
Distribution of students in the school is.
the same as the sample

Data is distributed uniformly across the
times/ the interval 20< £ < 40 oe
Half of the students in 20< < 40 took
fonger than 30 minutes

22 of the students took between 30 and
40
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@

4 points correctly plotted

B1 for 2 or 3 points corectly plotted

tolerance £ 1mm

® Sirongigood
positive
© 7142._]to 71.413] nfww Bifor21 20 from 17+ 4
Bifor 15
M1 for (theirt5)+21x100 e FT their diagram
110 scored

SC1 for line 'y = x’ drawn -
orif no points plotted in (a) SC1 for 12
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i [Point (0.8, 120) indicated 1
1A02:10
i | Nooeand 2| B for 200 to 260 visitors expected Justification includes.
Correct supporting value(s) and 140246 | orabout 0 to 1mm and 320 Reference to
justification orline of best fit within overiay line of best it (drawn or not) or trend
or negative trend/correlation or negative correlation

or marking(s) in relevant region above
2mm

or 2 or more values within overlay and
surrounding 2mm

or marking(s) in relevant region above
2mm
or surrounding values

See Appendix
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Outside range of data [collected]

140342

‘Accept “The data (or diagram) only
goes t0 5.5 (or 6)" oe

Do not accept

“by 6 to 7 it would give no visitors” oe
or

There is no data around 9 mm oe
The line of best ft does not reach 9
mm oe

Condone ‘[Because] there would be
anegative number of people”

See Appendix

“Total number or number of children
is not known oe or

The chart only shows
proportions/percentages oe

14028

Mark the best bit so long as no
contradiction

See Appendix
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‘3 (@

[0) ‘n 1317

2 [B1forany two correct
28013
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(ii) | Any multiple of 11 and its result 2 | Accept any correct argument
eg. 1ithterm is 121= 112 14013a | B4 at least two more evaluated terms
140240
(b) [Correct] eg.9=(1,3,9)or25=(1,5,25)or | 2 | B for each Factors given must be correct
49=(1,7,49) 280240 for each number given for B1
[Not correct] e.g. 1 = (1) or 81 = (1,3, 9,27,
81)
(© 36and 72 4| B1 for common factors of 288 and 360
24013 | found, e.g. 2, 3,6,8,9, 12, 18, 24, 36,
28001 | 72

and

B1 for common multiples of 4 and 6
found, e.g. 12, 24, 36, 48, 60, 72, 84,
96

and

B1 for 36 or 72
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6 [(a)] () | [Using the scatter diagram] the points slope 1
down/negative correlation 1A0212
(i) | [Using diagrams 1 and 2] 15/24 males have 2| B for 15/24 males estimate less than
less than 10 so more than half under- 240212 | 10 seconds

estimate, 10/16 females have more than 10
50 more than half over-estimate

B1 for 10/16 females estimate more
than 10 seconds
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(b)

No; itis a very small sample, so it doesn't
represent the population very well

140212
10342

B1 for any relevant comment,
&.g. small sample, more men than
women, John's work may involve
estimating time so the sample is
biased, etc.

B1 for "No*
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Graph A Strong negative

B1

Graph B No correlation

B1

allow ‘No’ or ‘None'

Additional Guidance

Condone incorrect spelling if intention s clear

Allow clear link(s) from the table to the answer line

eg an arrow from ‘Strong negative’ to the Graph A answer line
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Straight ruled line of best fit

Through (1, 9000) to (1, 10 000)

BT | and (8, 800) to (8, 1800)
3400 Reads correctly from their straight line of
best ft with negative gradient
Bift | Within £ square

SC1 (3200, 3800] with no straight line of
best it drawn





image1.png
statement

Statement

®1

‘Two different statements
Acceptable
g should be joined with straight lines (not curve)/should use a uler
1* (quarter) not shown/plotted/labelled/not all quarters labelled
does not show all 4 scasons.
9.5 missing from vertical axes/not lincar
Vertical (number) axis does not startat 0/the y axis stars at 6
the graph does not begin at 0, it starts at 6
itis not clear what 2, 3,4 on the x-axis mean
the scale of years docsn’t make sense
there is lack of clarity about what the numbers on the x axis represent
raph is curved line:
Not acceptable
g no value plotted for 2 in 2016
it does not start at 0 (no reference to vertical axis)/missing 0
they should not have connected the dots ke that
the numbers on the x axis are repeated
the numbers along the x axis 2, 3,4
the years on the x axis have not been written properly
docs ot follow a sequence
it needs a discontinuity wiggle on the axis
no title
One statement eg from those above.)

Ignore additional statements provided no
contradiction
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statements

c1

for lobf incorrect

Acceptable examples
lobf.

Lobf does not suit all points/not a lobf

Iobf wrong since hits x axis/is inaceurate/should be amongst the crosses
Lobf goes through the origin/through one point

Not acceptable examples

no correlation/there is no title

for height scale not linear

Acceptable examples
150 missing

Height not lincar / Height numbers going up wrong
Not acceptable examples

150

‘graph docs not start at 140/graph docs not start at 0
height should start at 170
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()

©

negative

Explanation

Comment

Bl

cl

c1

for a correct explanation,
eg “not in line with the trend of the other points™
“does not fit in with the correlation”™

“is far away from the other points or line of best fit”

for an explanation
eg “point would be outside of the range of the scatter diagram™

Ignore any description of a relationship
and any reference to strength of
correlation
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@
®
©

@

10,19
positive

121013

explanation

Bl

c1

Al

c1

cao
positive (correlation)

for an appropriate line of best fit drawn, or a point marked at (v, 16.4) or a horizontal line drawn
from 16.4 across to (x, 16.4) where x is in the range 12 to 13

hours given in the range 12 to 13

(yes) e.g. as the majority of points for high temperature appear when there are more hours of
sunshine (positive correlation)
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5 (a) improvement | CI _ appropriate improvement eg do not have axes
starting at (0, 0)
(b) explanation | C1  explanation eg pine cone has a very short width

for its length





